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A person was asked to state his age in years. His reply was, "Take my age three years hence, 
multiply it by 3 and then subtract three times my age three years ago and you will know how 
old I am." What was the age of the person?
एक व्यक्तिको अपनी आयु वर्षों में बताने के लिए कहा गया था। उनका जवाब था, "अब से मेरी उम्र

तीन साि िें, इसे 3 से गुणा करें और लिर तीन साि पहिे मेरी उम्र का तीन गुना घटाएं और
आपको पता चि जाएगा लक मेरी उम्र लकतनी है।" व्यक्तिकी आयु क्या थी?





Q.1 :-A merchant has 800 kg of sugar, a part of which he sells at 20% profit and the rest at 
16% profit. He gains 18.5% on the whole. Find the quantity sold at 16% profit ?
एकव्यापारी के पास 800 लकग्रा चीनी है, लजसका एकभाग वह 20% िाभ पर तथा शेर्ष 16% 
िाभ पर बेचता है। उसे कुि लमिाकर 18.5 प्रलतशतका िाभ होता है। 16% िाभ पर बेची गई
मात्रा ज्ञात कीलजये?

(A)300kg (B)500kg (C)800kg (D)750kg (E)None of these



Q.2 :-Manish bought 25 kg. sugar at Rs.32 per kg. and 15 kg. of sugar at Rs.36 per kg. What 
profit % did he get when he mixed the two varieties together and sold it as Rs.40.20 per kg?
मनीर्ष ने 25 लकिो खरीदा। चीनी 32 रुपये प्रलत लकिो।और 15 लकग्रा. चीनी का 36 रुपये प्रलत
लकिो। जब उसने दोनो ं लकस्ोंको एक साथ लमिायाऔर इसे 40.20 रुपये प्रलत लकिो के लहसाब
से बेचा तो उसे लकतना िाभ% प्राप्त हुआ?

(A)15% (B)10% (C) 20% (D)25% (E)16 2/3%



Q . 3:- Anita purchased one table and one chair costing Rs. 680 and Rs. 585 respectively. If 
she sells table at a loss of 6.25% and chair at a profit of 16 2/3% . Find the total amount she 
will get by selling these articles?
अनीता ने एक मेज तथा एक कुसीखरीदी लजनकीकीमतक्रमश: 680 रूपये तथा 585 रूपये हैं।
यलद उसने मेजको 6.25% की हालन पर तथा कुसीको 16 2/3% के िाभ पर बेचा तो वह इन
वसु्तओको बेचकर लकतना धन प्राप्तकरेगी?

(A)1560 (B)1440 (C)1320 (D) 1820 (E)None of these



Q.4:-A shopkeeper sold an article at profit of 30%.If both the cost price and selling price is 
lowered by Rs. 100. Then the profit would be 4% more than before. Then find the cost price 
of the article? 
एक दुकान दार अपनी वसु्तको 30% के िाभ पर बेचता है। यलदक्रय मूल्यऔर लवक्रय मूल्यदोनो ं
ही 100 रु से कमकर लदए जाए तो िाभ पहिे की तुिना में 4% अलधकहोगा तो वसु्तकाक्रयमूल्य
ज्ञातकरो ?

(A) 780 (B)820.20 (C)780.60 (D)850 (E)None of these



Q.5:- Cost price of two laptops is same. One is sold at a profit of 15% and the other for Rs. 
5200 more than the first. If the net profit is 20% then find the cost price of each laptop?
दो िैपटॉपकाक्रयमूल्यसमान है। लजनमे से एकको 15% कीिाभ परऔर दूसरे को पहिे से
5200 ज्यादा में बेचा जाता है। यलद उसका कुििाभ 20% हो तब िैपटॉपकाक्रय मूल्यज्ञातकरो ?

(A)52000 (B)54000 (C)36000 (D) CND (E) None of these



Q.6 :-A person marks his goods 30% above the cost price. He sells 60% of the goods at the 
marked price and the rest at 15% loss. What is his gain percent on the whole transaction?
कोईव्यक्तिअपनी वसु्तओंकोक्रयमूल्य से 30% अलधक मूल्यपर अंलकतकरता है। वह 60% 
वसु्तओंको अंलकत मूल्यपर और शेर्षको 15% हालन पर बेच देता है। पूरे सौदे में उसका प्रलतशत
िाभ लकतना है?

(A)9 (B)15 (C)12 (D)10.5 (E)None of these



Q.7 : -A person sold a article at a loss of 10%. Had he bought it for 20 % less and sold it for 
Rs. 176 more, he would have made a profit of 40%. Find the cost price of the article. 
एकव्यक्ति ने एक वसु्त को 10% की हालन पर बेचा। अगर उसने इसे 20% कम परखरीदा होता
और इसे रु। 176अलधक होता तो उसे 40% का िाभ होता। वसु्त का क्रय मूल्यज्ञात कीलजए।

(A) 600 (B) 800 (C) 900 (D) 1200 (E) None of these



Q.8:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकिि लवके्रता सेबऔर संतरे बेचता है और प्रते्यक से समान राजस्वप्राप्तकरता है। उसे
प्रते्यक सेब पर 20% कािाभऔर प्रते्यक संतरे पर 25% कािाभ प्राप्तहोता है। यलद बेचे गए
संतरो ंकी संख्याका बेचे गए सेबो ंकी संख्या से अनुपात 3: 2 है, तो एक संतरे के िागत मूल्यका
एक सेब के क्रय मूल्य से अनुपातक्या है?

(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these



Q.9 :-The ratio between the price of a scooter and a T.V . is 9: 5 respectively. If the price of 
the scooter is Rs .6000 more than the price of the T.V. what is the price of the T.V.?
एक सू्कटरऔर एक टी.वी. की कीमत के बीच का अनुपात। क्रमशः 9:5 है। यलद सू्कटर की
कीमत टीवी की कीमत से 6000 रुपये अलधक है, तो टीवी की कीमतक्या है?

(A)Rs.7000 (B)Rs.8000 (C)Rs. 7800 (D)Rs.7500 (E) Rs. 8500



Q.10 :-The profit earned by selling an article for Rs. 1516 is equal to the loss incurred by 
selling the same article for Rs. 1112. what is the cost price of the article ?
एक वसु्त को रु. में बेचकरअलजित िाभ। 1516 उसी वसु्त को रुपये में बेचने पर हुए नुकसान के
बराबर है। 1112. वसु्त का क्रय मूल्यक्या है ? 

(A)1314 (B)1343 (C)1414 (D)1434 (E)None of these



Q.11 :-A man sells a chair at Rs.960 and earns a profit of 20%. If the man wants to sell it at a 
profit of 40%, then at what price he should sell the chair?

एकव्यक्तिएक कुसीको 960 रुपये में बेचता हैऔर 20% कािाभअलजितकरता है। यलदव्यक्ति
इसे 40% के िाभ पर बेचना चाहता है, तो उसे कुसीको लकसकीमत पर बेचना चालहए?

(A)1120 (B) 1020 (C) 1280 (D)1200 (E)None of these



Q.12 :-By selling 12 apples for a rupee, a man losses 20%. How many for rupee should he sell to gain 
20% ?
एकरूपये में 12 सेब बेचने पर एकआदमी को 20% की हालन होती है। एक रुपये में वह लकतने
सेब बेचे की उसे 20% का िाभ हो ?

(A)5apples (B)8apples (C)10apples (D)15apples (E)None of these



Q.13: -Price of an article is marked up 50% above the cost price. If the discount offered on the 
article is Rs. 50 and the profit earned is also Rs. 50, what is the marked price of the article?
एक वसु्त का मूल्यक्रय मूल्य से 50% अलधक अंलकत लकया गया है। यलद वसु्त पर दी जाने वािी
छूट रु. 50औरअलजित िाभ भी रु. 50, वसु्त का अंलकत मूल्यक्या है?

(A)Rs.200 (B)Rs.240 (C)Rs.300 (D)Rs. 450 (E) Rs. 600



Q.14:-A table is sold at a profit of 20%. If both the cost price and the selling price of the 
table are decreased by Rs. 100, the profit would be 5% more, original cost price of the table 
is

एक मेजको 20% िाभ पर बेचा जाता है। यलद मेज के क्रय मूल्यऔर लवक्रय मूल्यदोनो ं में 100 रू. 
कीकमीकर दी जाती है तो िाभ में 5% और वृक्ति हो जाती है, तो मेजका वास्तलवक मूल्य है

(A)600 (B)500 (C)650 (D)cnd (E)None of these



Q.15:- When a person sold an article, his profit percent is 60% of the selling price. If the 
cost price is increased by 75% and the selling price remains the same, then find decrement 
in the profit is what percent of the selling price of the article? 
जब लकसीव्यक्ति ने एकवसु्त बेचा, तो उसका िाभ प्रलतशत लवक्रय मूल्यका 60% है। यलद िागत
मूल्यमें 75% की वृक्तिहुई हैऔर लवक्रय मूल्यसमान है,िाभ% में लगरावट वसु्त के लवक्रय मूल्य
का लकतना प्रलतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these



Q.16:- A watch is sold at a profit of 20% if both the cost price and selling price of the watch 
decreased by Rs. 200, the profit would be 10% more. original cost price of the watch is? 

एकघडीको 20% िाभ पर बेचा जाता है, यलद य मूल्यव लवक्रय मूल्यदोनो ं में ही रू. 200 कोकमी
कर दी जाये तो िाभमें 10% की वृक्ति हो जाती है घडीका वास्तलवकक्रयमूल्यज्ञातकरें?

(A)500 (B)550 (C)600 (D)650 (E)None of these



Q.17:- A man sells a TV at a profit of 25% of the cost, had he sold it at a profit of 25% of the 
selling price, his profit would have been 750 Rs more. The cost of the TV is
एकआदमी एक टीवी को िागत के 25% के िाभ पर बेचता है, यलद वह इसे लबक्री मूल्य के 25% 
के िाभ पर बेचता तो उसका िाभ 750 रुपये अलधक होता टीवी की िागत है

(A)8000 (B)9000 (C)10000 (D)7000 (E) None of these
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